Environmental Product Declaration

Paneltech Solid Collection and Designer Collection Panels
Charcoal, Graphite, Gunmetal, Pewter,

Sand, and Slate

45 PaperStone

The Earth’s Surface™

PaperStone, a composite panel product
made from recycled paper and a
proprietary resin system, is manufactured
in our “Paneltech” manufacturing facility
located in Washington State. PaperStone
is renowned for its unique warm feel
combined with incredible strength and
durability, all while being FSC and NSF
certified.

Paneltech is committed to making
innovative green products that contribute
to an eco-friendly, holistic lifestyle that is
elegant and responsible. This EPD will aid
building professionals in selecting
products that can aid in the achievements
of LEED credits. We are hopeful that this
EPD will demonstrate our commitment to
managing the environmental impact our
company has on the world and hope it
encourages other manufacturers to do so

as well.”
PaperStone®, created from recycled paper and a proprietary resin, is both
durable and easy to install. PaperStone offers a warm alternative to stone and
quartz, and is a great choice for homes, restaurants, office buildings, and higher C E RT' Fl E D
education. ENVIRONMENTAL

PRODUCT DECLARATION
UL.COM/EPD




Paneltech Solid Collection and Designer Collection ?_‘u PaperStOne
Panels
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

This declaration is an environmental product declaration (EPD) in accordance with ISO 14025 and ISO 21930. EPDs rely on Life
Cycle Assessment (LCA) to provide information on a number of environmental impacts of products over their life cycle.

Exclusions: EPDs do not indicate that any environmental or social performance benchmarks are met, and there may be impacts
that they do not encompass. LCAs do not typically address the site-specific environmental impacts of raw material extraction, nor
are they meant to assess human health toxicity. EPDs can complement but cannot replace tools and certifications that are
designed to address these impacts and/or set performance thresholds — e.g. Type 1 certifications, health assessments and
declarations, environmental impact assessments, etc. Accuracy of Results: EPDs regularly rely on estimations of impacts, and the
level of accuracy in estimation of effect differs for any particular product line and reported impact. Comparability: EPDs are not
comparative assertions and are either not comparable or have limited comparability when they cover different life cycle stages,
are based on different product category rules or are missing relevant environmental impacts. EPDs from different programs may
not be comparable.

EPD PROGRAM AND PROGRAM OPERATOR UL Environment
NAME, ADDRESS, LOGO, AND WEBSITE 2211 Newmarket Pkwy, Marietta, GA 30067 USA
GENERAL PROGRAM INSTRUCTIONS AND NSF Sustainability: Product Category Rule for Residential Countertops, valid through March
VERSION NUMBER 2023
Paneltech International, LLC
MANUFACTURER NAME AND ADDRESS 2999 John Stevens Way
Hoquiam, WA 98550
DECLARATION NUMBER 4790515575.101.1
DECLARED PRODUCT & FUNCTIONAL UNIT OF Paneltech Solid Collection and Designer Collection Panels
DECLARED UNIT Functional Unit = 1 m2 of countertop over 10 year product lifetime
REFERENCE PCR AND VERSION NUMBER I2\1032I;Sustainability: Product Category Rule for Residential Countertops, valid through March
DESCRIPTION OF PRODUCT(S) PaperStone® Solid and Designer Collection Countertop Panels in colors Charcoal, Graphite,
APPLICATION/USE Gunmetal, Pewter, Sand, and Slate.
PRODUCT RSL DESCRIPTION 10 Years
MARKETS OF APPLICABILITY Global
DATE OF ISSUE January 31, 2023
PERIOD OF VALIDITY 5 years
EPD TYPE Product Specific
DATASET VARIABILITY N/A
EPD SCOPE Cradle-to-Grave
YEAR(S) OF REPORTED PRIMARY DATA 2021
LCA SOFTWARE & VERSION NUMBER SimaPro
LCI DATABASE(S) & VERSION NUMBER Ecoinvent v3.5 & USLCI v2.0
LCIA METHODOLOGY & VERSION NUMBER TRACI 2.1; CML 4.1
The sub-category PCR review was conducted by: NSF - PCR Review Panel — nsf.org

This declaration was independently verified in accordance with ISO 14025: 2006.

The NSF Sustainability: Product Category Rule for Residential Countertops, valid Cop/a% %C
through March 2023, based on ISO 21930 serves as the core PCR.

[ INTERNAL [S=] EXTERNAL Cooper McCollum, UL Environment

This life cycle assessment was independently verified in accordance with ISO // / %ﬁ%{,
14044 and the reference PCR by: James Mellentine, Thrive ESG /W .

Environmental declarations from different programs (ISO 14025) may not be comparable.
This EPD was not written to support comparative assertions. Even for similar products, differences in functional unit, use and end-of-life stage assumptions, and data quality may produce incomparable results. It is not

recommended to compare EPDs with another organization as there may be differences in methodology, assumptions, allocation methods, data quality such as variability in datasets, and results of variability in assessment
software tools used.

Environment 2 0f 24



Paneltech Solid Collection and Designer Collection E_‘n Paperstone®

Panels The Earth’s Surface”
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

General Information

Paneltech is a forward-thinking company comprised of individuals who share a common goal: to make valuable surfaces the right way.
This means high-quality products that are both functionally superior and environmentally sound.

Product Type: Composite Panel Product

PaperStone is a hardwood-like, highly workable, non-brittle composite panel.
Additional Features:

- Heat resistant

- Stain resistant

- Easily workable

- Food Safe Certified

PaperStone is a beautiful and heavy-duty composite surface known for its performance, its warm touch, its contemporary appearance,
and its environmental sustainability. It has steel-like strength in span and stone-like durability, but it can be worked in the same fashion
as dense hardwoods.

AT T == F=----=-= F-"=-==== m-=-=-=-=-= m---=-=-=-= ——--=-—-=-=-= | =~
/ I I Manufacturing 1 1 I I A
l 1 1 - Production of andillary 1 1 1 1 1
materials or pre-
1 : | | products | | | | 1
1 Raw Materials 1 1 Generation of 1 1 1 1 1
_ Extraction and | | clectricity, steam and | | | | 1
I processing of raw heat from primary
I P el 1 1 energy resources Energy | | 1 1 ! 1
Reuse of products or recovery and other Distribution
| | 1 1 1 1 |
| materials recovery processes from - Transpart from Installation Use End of Life
1 Pracessing of 1 Transport 1 secandary fuels 1 production gate to 1 - Construction 1 - Bluse I} cipeconstruction 1
I Zem nd:_ry mafteria\ s 1 - :ran sportat\n? 1 ::ﬂ“j{'ﬁi‘:ﬁ Lhraof;"; 1 central warehouse 1 product waste 1 - B2 Maintenance 1 (manual process) 1
enaration o . or sourcing o > : or intermediate fam| - Waste processing | - B3Recair p| - C2westeTransport
1 electricity, steam, raw materials system storage site, if of product - B4 Replacements (transgert to landfill) 1
and heat 1 - Internal 1 - Emissions from the 1 relevant 1 packaging waste 1 ~ BS Refurbishment 1 |- c3wasteProcessing 1
1 bustion of
Waste management 1 transport 1 combustian of 1 Transpart to the 1 and product 1 _  B6 Operational 1 (considered, now 1
I from packaging and secondary fuels and construction site waste during the Energy Use flows)
| manufacturing 1 1 waste used in the 1 Starage of products, | | construction 1 - B7 Operational | |- caDpisposal 1
wastage 1 1 manufacturing process 1 including heating, 1 process 1 Water Use 1l- (inert material 1
I Energy recovery and Manufacturing of cooling, humidity - Installation landfilling)
1 other recovary 1 1 Fm:um and co- 1 control, ete. 1 support materials 1 1 |
processes from 1 I products 1
I secondary fuels Manufacturing of 1 1 1 1
1 excluding previous 1 1 packaging, including 1 1 1 1 1
their extraction,
| product system : : manufacturing and 1 I I I |
1 transport; 1 1 1 | I
A3 Waste it
] ! ! from manutactung || ! ! ! !
1 1 1 packaging and 1 1 1 1 |
1 1 1 manufacturing wastage 1 1 1 1 1
\ 1 1 | 1 I 1 [
\ 1 1 1 1 1 1 ’
N — e - L L = - - A - = o -7
Al. Raw Materials . . B1-B7. Product C1-c4.
A . A2. Raw Materials A3. Product Ad. Product AS5. Product Installation )
Extraction and Processing . . . Use and Deconstruction,
Transportation Manufacturing Transportation -
Maintenance Transport, Waste
Processing and
Disposal

Environment 30f 24



Paneltech Solid Collection and Designer Collection f‘u Paperstone

Panels The Earth’s Surfac
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

This product-specific EPD was developed based on the Cradle-to-Grave Life Cycle Assessment. The EPD accounts for raw material
extraction and processing, transport, product manufacturing, distribution, installation, maintenance, and disposal. Manufacturing data
were gathered directly from company personnel. When updated company-specific data were not available the ratio of production units,
within the 2021 calendar year, was used as a proxy. For any product group EPDs, an impact assessment was completed for each
product and the highest and lowest impacts were reported as conservative representations of the product group. Product grouping was
considered appropriate if the individual product impacts differed by no more than £10% in any impact category.

PaperStone® is commonly used for architectural millwork, kitchen and bath countertops, commercial surfaces, interior/exterior wall
cladding and partitions, musical instruments, and many other architectural applications.

The primary product components and/or materials must be indicated as a percentage mass to enable the user of the EPD to understand
the composition of the product in delivery status.

The average composition of the minimum and maximum impact countertop products is as follows:

Material Minimum Maximum
Colorant 0.89% 4.56%
Recycled Paper 44.96% 53.08%
Virgin Paper 5.00% 0.00%
Resin 49.15% 42.35%
Total 100.00% 100.00%

Environment 40f 24



Paneltech Solid Collection and Designer Collection
Panels
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

4 PaperStone

For the declared product, the following technical data in the delivery status must be provided with reference to the test standard:

Technical Data

Requirement Specification Unit
Water Absorption (by weight) 0.82 %
Density 1.4-1.45 g/cm3
Internal Bond 1225 psi
Modulus of Rupture - Face - X Direction 24320 psi
Modulus of Rupture - Face - Y Direction 24080 psi
Modulus of Rupture - Edge - X Direction 21834 psi
Modulus of Rupture - Edge - Y Direction 21413 psi
Modulus of Elasticity - X Direction 1724.25 ksi
Modulus of Elasticity - Y Direction 1666.58 ksi
Compressive Strength - Z Direction (Face) 45324 psi
Compressive Strength - X Direction 23200 psi
Compressive Strength - Y Direction 22560 psi
Coefficient of Thermal Expansion - Z Direction 2.62 10-5in/in/°C
Coefficient of Thermal Expansion - X Direction 3.64 10-5in/in/°C
Coefficient of Thermal Expansion - Y Direction 3.48 10-5in/in/°C
Izod Impact Strength - Face - X Direction 3.29 ft/Ib/in-width
Izod Impact Strength - Face - Y Direction 2.76 ft/Ib/in-width
Izod Impact Strength - Edge - X Direction 0.73 ft/Ib/in-width
Izod Impact Strength - Edge - Y Direction 75 ft/Ib/in-width
Hardness Test - Barcol Meter 47 avg Barber Coleman

UV Exposure

Slight darkening of lighter
colors, dark colors are stable

Formaldehyde

No detected residues (less
than 1 part per million)

ASTM E84 Fire Test Results - Flamespread

(20) Class A Rating

ASTM E84 Fire Test Results - Smoke

(110) Class A Rating

The PaperStone® composite panel products conform to the certifications and sustainability regulations below:
- ASTM E84 Fire Test

- FSC (Forest Stewardship Council) Certified by the SmartWood program of the Rainforest Alliance

- NSF Certified

The panels are placed horizontally on a wooden pallet. Cardboard slips are placed between panels and paper shipping labels are
applied. The amount of product placed on each pallet has been calculated based off of the total number of pallets used in 2021 and the
total quantity of product produced.

Environment

5of 24



Paneltech Solid Collection and Designer Collection ?_‘u PaperStOne
Panels
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Methodological Framework

The declaration refers to the functional unit of 1 square meter of Paneltech Solid Collection and Designer Collection Panels as specified
in the Countertop PCR.

[ Minimum | NMaximum |
Name Value | Unit | Value [ Unit

One square meter of installed
countertop over a 10 year lifetime,
see separate ISO 21930 tables for

consideration of 75 year building life.

Functional Unit

Mass 8.29 kg/m? 8.44 kg/m?
Thickness 6.35 mm 6.35 mm
Lifetime 10 years 10 years

This is a cradle to grave Environmental Product Declaration. The following life cycle phases were considered:

Benefits and
Construction Loads
Product Stage Use Stage End of Life Stage* | Beyond the
Process Stage
System
Boundaries
o o )
g 2 2 S8 2 L8
()] © - @ -— "E [ = ‘
sls| £ |2 8¢ g | 2| 5|8 |S5|s|8|s| 82
o S 2 E2|l B&a | o & s S = = = |3=|8]| 8|3 38
= ) o Qv == 7] s Q o [ w — =95l al|l o] 9 Q
3] 2 £ ol E5 | 3 D Q 8 o) K] S |2c|(s|al& x 2
T @ 5 tc| o5 c o o £ o S |§55| s 2] b=
£ = & 8= &2 S g | 2| s| & |gs|[F|g]|O @9
= = 2] og = [ I o |8 ) 50
g & 2 2 | & = ©o
= o | ©
A1 A2 A3 A4 A5 B1 B2 | B3| B4 | B5 | B6 B7 | C1 |C2|C3|C4 D
X X X X X MNDf X [MND| X [MND|[MND|MND| X | X | X[ X MND
PCR System Mat'er.@I Construction | Installation Use End-of-Life
Boundary Stages | Acquisition

Description of the System Boundary Stages Corresponding to the PCR
(X =Included; MND = Module Not Declared)

*This includes provision of all materials, products and energy, packaging processing and its transport, as well as waste processing up to
the end-of waste state or disposal of final residues.

The reference service life of a properly installed countertop is 10 years. The building estimated service life is 75 years. The results in the
body of this report are shown over a 10 year period, as specified in the PCR. At the end of the report the tables specific to ISO 21930
requirements are included, which consider the 75 year building lifetime.

Allocation was determined on a per mass basis for primary data. For secondary data, cut-off methodology was used.

Environment 6 of 24




Paneltech Solid Collection and Designer Collection ?_‘u PaperStOne
Panels
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Processes whose total contribution to the final result, with respect to their mass and in relation to all considered impact categories, is
less than 1% can be neglected. The sum of the neglected processes may not exceed 5% by mass of the considered impact categories.
For that a documented assumption is admissible.

For Hazardous Substances the following requirements apply:

» The Life Cycle Inventory (LCI) of hazardous substances will be included, if the inventory is available.

« If the LCI for a hazardous substance is not available, the substance will appear as an input in the LCI of the product, if its mass
represents more than 0.1% of the product composition.

+ Ifthe LCI of a hazardous substance is approximated by modeling another substance, documentation will be provided.

This EPD is in compliance with the cut-off criteria. No processes were neglected or excluded unless stated. Capital items for the
production processes (machine, buildings, etc.) were not taken into consideration.

Primary data were collected for every process in the product system under the control of Paneltech. Secondary data from the SimaPro
Ecoinvent and USLCI databases were utilized. These data were evaluated and have temporal, geographic, and technical coverage
appropriate to the scope of the residential countertop product category.

The data sources used are complete and representative of North America in terms of the geographic and technological coverage and
are a recent vintage (i.e., less than ten years old). The data used for primary data are based on direct information sources of the
manufacturer. Secondary data sets were used for raw materials extraction and processing, end of life, transportation, and energy
production flows. Wherever secondary data is used, the study adopts critically reviewed data for consistency, precision, and
reproducibility to limit uncertainty.

The period under review is the full calendar year of 2021.

The uptake and release of biogenic carbon throughout the product life cycle follows ISO 21930:2017 Section 7.2.7.

A comparison or an evaluation of EPD data is only possible if all data sets to be compared were created according to ISO 21930 and
the building context, respectively the product-specific characteristics of performance, are taken into account. Environmental declarations
from different programs may not be comparable. Full conformance with the PCR for Residential Countertop products allows EPD
comparability only when all stages of a countertop product's life cycle have been considered. However, variations and deviations are
possible.

End of Life
The end-of-life scenario was modeled based on the 2017 US EPA solid waste and waste diversion statistics. The study assumes 80%
being disposed as the average US municipal solid waste disposition, with the rest sent to incineration.

The LCA results within this EPD are reported in Sl units.

Environment 7 of 24



Environmental Product Declaration _ . @ JE—
Paneltech Solid Collection and Designer Collection ,?m Paperstone cermirien [T 14c0c2c;r gg &040

Panels The Earth’s Surface™ and ISO 21930
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

PRODUCT DECLARATION
o conprs

Additional Environmental Information

Background data

For life cycle modeling of the considered products, the SimaPro version 9.2.0.2 software was used. The SimaPro Ecoinvent database
contains consistent and documented datasets which are documented in the LCA report and on the Ecoinvent website. To ensure
comparability of results in the LCA, Ecoinvent and USLCI databases were used wherever possible.

Manufacturing

The primary manufacturing processes are completed by Tier 1 suppliers in the USA. The final manufacturing processes occur in
Hoquiam, Washington.

Inbound Resin and - Resin Applied to
Colorant Materials Paper Line Process

!

Sawn to Size — Composite Press — Drying Ovens

Environment 8 of 24



Paneltech Solid Collection and Designer Collection ?‘u Paperstone
Panels
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

The Earth’s Surface

All packaging is fully recyclable. The packaging material is composed of cardboard, paper, and wood.

Material Value
Wood 94.7%
Cardboard 4.9%
Paper 0.4%
Total 100%

Transport to Building Site (A4)

Name Min | Max Unit

Fuel type Diesel -
Liters of fuel 38 1/100km

. Truck - 17% | Truck - 9%
Vehicle type Ship - 83% | Ship - 61%
Capacity utilization (including empty runs) 90 %
Capacity utilization volume factor 1 -
Transport distance 7.44E+04 | 1.10E+05 kgkm/m2
Gross density of products transported 8.29 8.44 kg/m2

Environment 9 of 24



=711 ®
Paneltech Solid Collection and Designer Collection H Paperstone
Panels The Earth’s Surface
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

PaperStone is NSF Certified and will not "off gas". Industry standard safety protocol should be followed during all fabrication and
installation processes.

Installation into the building (A5)

Name Min | Max Unit
Auxiliary materials - Osmo TopOil 0.08 | 0.08 kg
Auxiliary materials - Bee's Wax Sealant 0.02 | 0.02 kg
Auxiliary materials - Adhesive 0.10 | 0.10 kg
Water consumption - - m®
Other resources - - kg
Electricity consumption 0.04 | 0.04 kWh
Other energy carriers - - MJ
Product loss per functional unit 249 | 253 kg
Waste materials at construction site 187 | 219 kg
Output substance (recycle) - - kg
Output substance (landfill) 199 | 2.02 kg
Output substance (incineration) 0.50 | 0.51 kg
Packaging waste (recycle) 140 | 1.64 kg
Packaging waste (landfill) 0.37 | 044 kg
Packaging waste (incineration) 0.09 | 0.1 kg
\?V:fe(;t emissions to ambient air*, soil, and 336 393 kg COz
VOC emissions - - kg
*CO2 emissions to air from disposal of packaging

Reference Service Life

Name Value Unit
Reference Service Life 10 years
Estimated Building Service Life 75 years
Number of Replacements 6.5 number

This study assumes that countertops are cleaned every other day with soap and water. It is also assumed that once during the products'
lifetime an additional coating of oil and wax will be required for the refinishing process.

Maintenance (B2)

Name Value Unit
Cleaning once every two days 1825 Cycles/ESL
Water consumption (from tap, evaporated) 3

0.11 m

Detergent 291 kg
Electricity consumption (refinishing) 0.02 kWh
Osmo TopOil 0.08 kg
Bee's wax coating 0.02 kg
Other energy carriers specified by type - kWh
Power output of equipment - kw
Waste materials from maintenance - kg
Direct emissions to ambient air, soil, and B kg
water

Countertops cleaned with soap
and water once every two days
over a 10-year period.

Further assumptions for scenario
development

Environment 10 of 24



Paneltech Solid Collection and Designer Collection f_‘ﬂ Paperstone

Panels The Earth’s Surface
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

The end-of-life scenario was modeled based on the 2017 US EPA solid waste and waste diversion statistics. The study assumes 80%
being disposed as the average US municipal solid waste disposition, with the rest sent to incineration.

End of life (C1-C4)

Name Min Max Unit
Collected separately 1.66 1.69 kg
Collected as mixed construction waste 6.63 6.75 kg
Reuse 0.00 0.00 kg
Recycling 0.00 0.00 kg
Landfilling 6.63 6.75 kg
Incineration 1.66 1.69 kg
Energy conversion 0.00 0.00 -
Material for final deposition 8.29 8.44 kg
Removals of biogenic carbon 10.20 10.38 kg

Environment 11 of 24



=714 o
Paneltech Solid Collection and Designer Collection 5 Paperstone
Panels T -art Cij 5
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Minimum Results

TRACTZ.T Impact Assessment with [IPCC 202T for GWP
. Raw Material . . .
Parameter Parameter Unit Acquisition Construction Installation Use Disposal Total
GWP Global warming potential kg CO»-Eq. 1.9E+01 9.4E+00 8.5E+00 2.8E+00 | 4.1E+00 | 4.4E+01
GWP - Biogenic B'Oge”'°pgt’ri’t"i‘;|""arm'"9 kg CO-Eq. 3.3E-02 1.2E-02 4.7E-03 8.8E-03 | 1.9E-03 | 6.0E-02
Depletion potential of the kg CFC-11
ODP stratospheric ozone layer Eq. 1.8E-06 7.8E-07 8.0E-07 2.3E-07 5.0E-07 4.1E-06
. Acidification potential for air
AP Air emissions kg SO2-Eq. 1.0E-01 3.5E-02 6.7E-02 1.3E-02 5.5E-03 2.2E-01
EP Eutrophication potential kg N-Eq. 5.0E-02 4.1E-03 1.1E-02 1.9E-02 1.0E-02 9.4E-02
SP Smog formation potential kg Os-Eq. 1.5E+00 4.4E-01 1.5E+00 1.2E-01 8.1E-02 3.6E+00
FFD Fossil fuel depletion MJ-surplus 3.3E+01 1.8E+01 1.8E+01 1.7E+00 | 2.3E+00 | 7.3E+01
CNIC 4T Impacf Assessment
Parameter Parameter Unit Raw N_Ia_te.!rlal Construction Installation Use Disposal Total
Acquisition
GWP Global warming potential kg CO2-Eq. 1.9E+01 9.4E+00 8.5E+00 2.8E+00 | 4.1E+00 | 4.4E+01
Depletion potential of the
ODP stratospheric ozone layer kg CFC-11 Eq. 1.5E-06 6.4E-07 6.2E-07 2.0E-07 4.4E-07 3.4E-06
AP Air Acidification potential for ar |4 50,£q. 9.4E-02 3.5E-02 6.0E-02 11602 | 53603 | 24E-01
EP Eutrophication potential kg(PO4)"-Eq. 2.6E-02 3.5E-03 1.1E-02 9.6E-03 4.4E-03 5.5E-02
Formation potential of
POCP tropospheric ozone kg ethane-Eq. 6.0E-03 7.6E-03 3.5E-03 1.6E-03 2.1E-04 1.9E-02
Abiotic depletion potential for
ADPE non-fossil resources kg Sb-Eq. 1.6E-04 8.7E-06 5.4E-05 2.7E-05 8.3E-06 2.6E-04
Abiotic depletion potential for
ADPF fossil resources MJ 3.0E+02 1.4E+02 1.4E+02 1.6E+01 1.9E+01 6.2E+02
Cife Cycle Invenfory Data
R B Raw Material . . .
Parameter - Material Resources Unit Acquisition Construction Installation Use Disposal Total
Virgin renewable resources kg 4.1E-01 1.9E+00 2.0E-02 2.0E-02 0.0E+00 | 2.3E+00
Recycled resources kg 3.7E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 3.7E+00
Virgin non-renewable resources kg 4.1E+00 7.1E-03 1.8E-01 3.0E+00 | 0.0E+00 | 7.3E+00
Parameter - Emissions to Air Unit R:‘:;m::tel gﬁl Construction Installation Use Disposal Total
SOx kg 3.8E-02 2.3E-02 3.3E-02 3.5E-03 2.8E-03 1.0E-01
NOx kg 2.6E-09 2.9E-09 7.1E-07 6.7E-07 9.0E-10 1.4E-06
CO2 kg 0.0E+00 0.0E+00 2.0E-02 2.0E-02 0.0E+00 4.0E-02
Methane kg 5.4E-03 6.5E-03 9.2E-03 3.7E-04 1.8E-05 2.1E-02
N20 kg 4.6E-04 2.1E-04 6.1E-04 7.7E-04 7.2E-05 2.1E-03
CO kg 3.4E-04 5.9E-06 6.7E-05 6.3E-05 2.6E-09 4.8E-04
Parameter - Water Usage and Emissions to Unit Raw N_Ia_te.!rlal Construction Installation Use Disposal Total
Water Acquisition
Phosphates kg 1.4E-02 1.1E-03 6.4E-03 1.3E-03 3.5E-03 2.6E-02
Nitrates kg 1.0E-02 1.1E-03 4.0E-03 5.8E-02 9.2E-04 7.4E-02
Dioxin kg 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Arsenic kg 4.3E-05 3.3E-06 3.6E-05 4.7E-06 3.5E-06 9.0E-05
Lead kg 3.8E-04 2.2E-05 7.0E-04 6.4E-05 2.1E-05 1.2E-03
Mercury kg 1.6E-06 1.2E-07 1.3E-06 2.5E-07 1.6E-07 3.4E-06
Cadmium kg 1.2E-05 8.5E-07 1.6E-05 1.7E-06 6.0E-07 3.1E-05
Chromium kg 1.4E-05 2.0E-06 1.4E-05 2.3E-06 1.1E-07 3.2E-05
Water Consumption m3 4.9E-01 1.3E-02 4.7E-02 2.0E-01 1.5E-02 7.6E-01
N Raw Material N N N
Parameter - Energy Type and Usage Unit Acquisition Construction Installation Use Disposal Total
Primary Energy Demand MJ 3.8E+02 2.6E+02 3.0E+02 4.5E+01 2.2E+01 1.0E+03
Fossil Fuel Based Energy MJ 3.3E+02 1.5E+02 3.0E+02 2.0E+01 2.1E+01 8.2E+02
Nuclear Energy MJ 7.0E-02 1.6E-02 8.4E-03 2.2E+00 1.7E-03 2.3E+00
Renewable Energy (wind, geothermal, solar) MJ 8.1E-01 1.2E-01 6.9E-01 1.5E-01 1.5E-01 1.9E+00
Renewable Energy (water) MJ 3.5E+00 4.6E-01 2.9E+00 4.6E-01 4.6E-01 7.7E+00
Biomass Energy MJ 4.7E+01 1.1E+02 1.5E+00 6.5E+01 1.8E-01 2.3E+02
Parameter - Waste Management Unit Raw Material Construction Installation Use Disposal Total
9 Acquisition P
Incineration with energy recovery kg 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Incineration without energy recovery kg 0.0E+00 0.0E+00 9.7E-02 0.0E+00 1.7E+00 | 1.8E+00
Landfill (non-hazardous solid waste) kg 1.3E+00 0.0E+00 2.2E+00 4.5E-01 74E+00 | 1.1E+01
Hazardous waste kg 2.5E-04 0.0E+00 2.4E-04 1.0E-04 7.0E-05 6.7E-04
Landfill avoidance (recycling) kg 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00

Environment 12 of 24



Environmental Product Declaration

@ According to

—, ®
Paneltech Solid Collection and Designer Collection Eﬂ Paperstone ST 150 14025, ISO 14040,
Panels The Earth’s Surface™ i and ISO 21930

Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Minimum Results Interpretation

The raw material acquisition stage accounts for the majority of the product impacts, which mostly comes from upstream impacts from materials used. Construction and
installation are typically the secondary drivers of impact. Installation accounts for more impact in acidification and smog formation. Use accounts for more impact in

eutrophication.
100%
90%
0,
80% M Disposal
70%
60% B Use
50% .
M Installation
40%
30% B Construction
20%
M Raw Material
10% Acquisition
0%
GWP GWP - ODP AP Air EP SP FFD
Biogenic

Environment 13 of 24



=711 ®
Paneltech Solid Collection and Designer Collection = Paperstone
Panels The Earth’s Su >
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Maximum Results

TRACTZ. TTmpact Assessment with IPCC 202T for GWP
Parameter Parameter Unit RAa:;ui:itGi!gr? Construction Installation Use Disposal Total
GWP Global warming potential kg CO2-Eq. 1.5E+01 1.4E+01 9.1E+00 2.8E+00 4.1E+00 4.5E+01
GWP - Biogenic B'°ge”'°p§';ﬁ’t"i‘;|warm'"9 kg CO-Eq. 17E-02 1.4E-02 47603 8.8E-03 | 20E-03 | 4.7E-02
Depletion potential of the kg CFC-11
ODP stratospheric ozone layer Eq. 1.3E-06 1.2E-06 8.1E-07 2.3E-07 5.1E-07 4.1E-06
AP A Acidiication pofential for ar |5 50, £q, 7.56-02 5.26-02 8.4E-02 13602 | 56603 | 2.3E-01
EP Eutrophication potential kg N-Eq. 7.2E-02 5.3E-03 1.2E-02 1.9E-02 1.0E-02 1.2E-01
SP Smog formation potential kg Os-Eq. 1.3E+00 7.4E-01 2.0E+00 1.2E-01 8.3E-02 4.2E+00
FFD Fossil fuel depletion MJ-surplus 3.9E+01 2.7E+01 1.9E+01 1.7E+00 | 2.4E+00 | 8.8E+01
CNILC 4. T Impact Assessment
Parameter Parameter Unit Fifxm::ﬁ 2::' Construction Installation Use Disposal Total
GWP Global warming potential kg CO2-Eq. 1.5E+01 1.4E+01 9.1E+00 2.8E+00 4.1E+00 4.5E+01
Depletion potential of the
ODP stratospheric ozone layer kg CFC-11 Eq. 1.1E-06 9.5E-07 6.2E-07 2.0E-07 4.5E-07 3.3E-06
- dification potential for air
AP Air Acidicalion potential for ar kg SO»Eq. 7.0E-02 5.3E-02 7.3E-02 1102 | 5.4E03 | 2.1E-01
EP Eutrophication potential kg(POa4)*-Eq. 3.2E-02 4.8E-03 1.4E-02 9.6E-03 4.4E-03 6.4E-02
Formation potential of
POCP tropospheric ozone kg ethane-Eq. 6.6E-03 2.6E-02 3.7E-03 1.6E-03 2.1E-04 3.8E-02
Abiotic depletion potential for
ADPE non-fossil resources kg Sb-Eq. 4.9E-02 1.2E-05 5.4E-05 2.7E-05 8.4E-06 5.0E-02
ADPF Abiofic depletion potential for MJ 31E+02 2.1E+02 1.4E+02 16E+01 | 1.9+01 | 7.0E+02
fossil resources
Cife Cycle Inventory Data
. . Raw Material . . "
Parameter - Material Resources Unit Acquisition Construction Installation Use Disposal Total
Virgin renewable resources kg 0.0E+00 2.2E+00 2.0E-02 2.0E-02 0.0E+00 | 2.2E+00
Recycled resources kg 4.5E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 4.5E+00
Virgin non-renewable resources kg 4.0E+00 8.3E-03 1.8E-01 3.0E+00 | 0.0E+00 | 7.1E+00
Parameter - Emissions to Air Unit R:‘:;m::tel gﬁl Construction Installation Use Disposal Total
SOx kg 4.1E-03 3.2E-02 3.8E-02 7.0E-06 2.9E-03 7.7E-02
NOx kg 2.8E-11 7.1E-07 6.7E-07 0.0E+00 9.2E-10 1.4E-06
CO2 kg 0.0E+00 2.0E-02 2.0E-02 0.0E+00 | 0.0E+00 4.0E-02
Methane kg 7.4E-03 5.7E-03 1.0E-02 1.8E-05 2.2E-09 2.3E-02
N20 kg 1.5E-04 5.5E-04 1.1E-03 3.4E-07 7.3E-05 1.8E-03
CO kg 1.1E-06 6.6E-05 7.3E-05 2.6E-09 0.0E+00 1.4E-04
Parameter - Water ‘lljvs;:gf and Emissions to Unit Ff::;m:;ﬁg:‘ Construction Installation Use Disposal Total
Phosphates kg 2.4E-02 1.3E-03 6.5E-03 1.3E-03 3.6E-03 3.7E-02
Nitrates kg 4.0E-03 1.4E-03 4.0E-03 5.8E-02 9.4E-04 6.8E-02
Dioxin kg 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Arsenic kg 1.1E-03 4.4E-06 3.6E-05 4.7E-06 3.5E-06 1.2E-03
Lead kg 3.5E-03 3.1E-05 7.0E-04 6.4E-05 2.2E-05 4.3E-03
Mercury kg 6.3E-06 1.5E-07 1.3E-06 2.5E-07 1.7E-07 8.2E-06
Cadmium kg 8.9E-05 1.2E-06 1.6E-05 1.7E-06 6.1E-07 1.1E-04
Chromium kg 1.7E-05 2.9E-06 1.5E-05 2.3E-06 1.1E-07 3.7E-05
Water Consumption m3 4.4E-01 1.6E-01 2.1E-02 0.0E+00 2.4E-01 8.6E-01
P ter - E T d U Unit Raw Material [0 oo et Installati u Di 1| Total
arameter - Energy lype an sage ni Acquisition onstruction nstallation se Isposa otal
Primary Energy Demand MJ 3.7E+02 3.7E+02 3.1E+02 8.6E+01 2.3E+01 1.2E+03
Fossil Fuel Based Energy MJ 3.4E+02 2.3E+02 3.0E+02 1.7E+01 2.1E+01 9.0E+02
Nuclear Energy MJ 1.2E+01 1.1E+00 5.9E+00 9.4E-01 1.0E+00 2.1E+01
Renewable Energy (wind, geothermal, solar) MJ 1.3E+00 1.4E-01 6.7E-01 1.4E-01 1.4E-01 2.4E+00
Renewable Energy (water) MJ 2.1E+01 5.6E-01 2.8E+00 4.6E-01 4.7E-01 2.5E+01
Biomass Energy MJ 2.1E+00 1.3E+02 1.5E+00 2.4E+01 1.9E-01 1.6E+02
P ter - Waste M t Unit Raw Matertal |~ o o Installati u Di 1| Total
arameter - Waste Managemen ni Acquisition onstruction nstallation se isposal ota
Incineration with energy recovery kg 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Incineration without energy recovery kg 0.0E+00 0.0E+00 9.7E-02 0.0E+00 1.7E+00 | 1.8E+00
Landfill (non-hazardous solid waste) kg 1.7E+00 0.0E+00 3.1E+00 4.5E-01 7.5E+00 1.3E+01
Hazardous waste kg 4.5E-04 0.0E+00 3.1E-04 1.0E-04 7.1E-05 9.4E-04
Landfill avoidance (recycling) kg 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00

Environment

14 of 24




Environmental Product Declaration _ . @ JE—
Paneltech Solid Collection and Designer Collection ?m Paperstone cermirien [T 14C0C2c;r gg &040

Panels The Earth’s Surface™ " > and ISO 21930
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Maximum Results Interpretation

The raw material acquisition stage accounts for the majority of the product impacts, which mostly comes from upstream impacts from materials used. Construction and
installation are typically the secondary drivers of impact. Installation accounts for more impact in acidification and smog formation while construction accounts for more
impact in global warming potential, ozone depletion, and fossil fuel depletion. Use accounts for more impact in eutrophication.

100%
90%
0,
80% M Disposal
70%
60% m Use
0,
0% M Installation
40%
30% B Construction
20%
M Raw Material
10% Acquisition
0%
GWP EP SP FFD

Additional Environmental Information

Environmental and Health During Manufacturing

GWP - oDP AP Air

Biogenic
Paneltech and PaperStone® are committed to producing high quality products with minimal environmental impact where health and
safety is the primary focus for all employees and associates. Paneltech and PaperStone® have a well established Safety Program that
ensures that all environmental and OSHA laws are met or exceeded for the health and safety of all employees and contractors.
Environmental operations, GHG, energy, water, waste, VOC, health, and safety are constantly monitored. Inspections, audits, and
reviews are conducted often to ensure applicable standards are met and our new 100% recycled waste management program has
resulted in zero hazardous waste production.

Environmental and Health During Installation

There is no harmful emissive potential. No damage to health or impairment is expected under normal use corresponding to the intended
use of the product.

Extraordinary Effects

Fire

Paneltech's products are tested using ASTM E84 Fire Test and are rated Class A by both the Flamespread Index and the Smoke
Developed Index.

Water

No danger to the environment can be anticipated during flooding.

Mechanical Destruction

No danger to the environment can be anticipated during mechanical destruction.

Environment 15 of 24



Paneltech Solid Collection and Designer Collection f_‘u Paperstone

Panels The Earth’s Surface”
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Global warming potential is calculated using the IPCC AR6 and CML 4.1 impact assessment methodologies. Delayed emissions are not
considered.

Paneltech is a leader in the composite-panel manufacturing industry and one that was a pioneer in regards to the use of recycled paper.
We strive to provide products that promote sustainability, health, and happiness. We utilize the industries highest concentration of
recycled paper while combining it with our very own proprietary, non-petroleum based, resin systems. Within our plant, we continue to
strive to minimize waste, improve energy efficiencies, as well work towards the implementation of new, increasingly environmentally
friendly ingredients.

Paneltech International, LLC
2999 John Stevens Way
Hoquiam, WA 98550

Environment 16 of 24



Paneltech Solid Collection and Designer Collection

Panels

Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

15

PaperStone

s ourj

Additional Results per ISO 21930

This section shows similar results as shown above; however, the results shown in this section are based o
the results shown above follow the guidelines outlined in the Residential Countertops PCR.

f of guidelines outlined in ISO 21930, while

Minimum Results per Functional Unit Over the Building Lifetime of 75 Years - Including 6.5 Replacements

Results shown below were calculated using TRACI 2.1 Methodology.

TRACI 2.1 Impact Assessment

Parameter Parameter Unit A1-A3 A4 A5 B2 B4 Cc1 C2 C3 C4
GWP Global warming potential kg COrEq. | 2.8E+01 | 3.0E+00 | 5.4E+00 | 2.9E+00 | 2.8E+02 | 0.0E+00 | 1.5E-02 | 0.0E+00 | 4.0E+00
oDP Depletion potential of the kg CFC-11 | 5 6k06 | 11610 | soE-07 | 23E07 | 278-05 | 0.0E+00 | 5.96-13 | 0.0E%00 | 5.08-07
stratospheric ozone layer Eq.
AP Ar Ac'd'f'cat:r:i‘s’;‘c‘?::a' for air kg SOrEq. | 1.4E-01 | 4.0E-02 | 2702 | 1.3E-02 | 1.4E+00 | 0.0E+00 | 9.2E-05 | 0.0E+00 | 5.4E-03
EP Eutrophication potential kg N-Eq. 4.6E-02 2.2E-03 8.4E-03 1.9E-02 5.6E-01 0.0E+00 5.1E-06 0.0E+00 1.0E-02
SP Smog formation potential kg Os-Eq. 1.9E+00 1.1E+00 3.4E-01 1.2E-01 2.3E+01 0.0E+00 2.5E-03 0.0E+00 7.9E-02
FFD Fossil fuel depletion MJ-surplus | 5.6E+01 | 5.8E+00 | 1.3E+01 | 1.8E+00 | 5.2E+02 | 0.0E+00 | 3.0E-02 | 0.0E+00 | 2.4E+00
*All use phase and disposal stages have been considered and only those with non-zero values have been reported
Results shown below were calculated using CML 2001 - April 2013 Methodology.
CML 4.1 Impact Assessment
Parameter Parameter Unit A1-A3 A4 A5 B2 B4 c1 c2 Cc3 c4
GWP Global warming potential kg COzEq. | 2.8E+01 | 3.0E+00 | 5.5E+00 | 2.8E+00 | 2.9E+02 | 0.0E+00 | 1.5E-02 | 0.0E+00 | 4.0E+00
opP Depletion potential of the kg CFC-11Eq. | 22E-06 | 1.1E-10 | 6.2E-07 | 20E-07 | 23E-05 | 0.0E+00 | 5.9E-13 | 0.0E+00 | 5.0E-07
stratospheric ozone layer
AP Air A°'d'f'°a';°m”i§;;"s“a' for air kg SO»Eq. 136-01 | 32802 | 28602 | 1.1E-02 | 1.32+00 | 0.0E+00 | 9.2E-05 | 0.0E+00 | 5.4E-03
EP Eutrophication potential kg(POs)*Eq. 30602 | 6.0E-03 | 4.96-03 | 96803 | 3.98-01 | 0.0E+00 [ 5.1E-06 | 0.0E+00 | 1.0E-02
Formation potential of
POCP opospharic ozone kg ethane-Eq. | 1.4E-02 | 8.8E-04 | 26E-03 | 16603 | 65601 | 0.0E+00 | 2.56-03 | 0.0E+00 | 7.9E-02
ADPE Abiotic depletion potential for kg Sb-Eq. 1.76-04 | 0.0E+00 | 54E-05 | 27E-05 | 1.6E+01 | 0.0E+00 | 3.0E-02 | 0.0E+00 | 2.4E+00
non-fossil resources
Abiotic depletion potential for
ADPF _ MJ 4.46+02 | 3.96+01 | 9.9E+01 | 1.6E+01 | 3.95+03 | 0.0E+00 | 1.6E-02 | 0.0E+00 | 4.0E+00
fossil resources
*All use phase and disposal stages have been considered and only those with non-zero values have been reported
Results below contain the resource use throughout the life cycle of the product.
Resource Use
Parameter Parameter Unit A1-A3 A4 A5 B2 B4 Cc1 Cc2 C3 C4
RPRe Renewable primary energy as MJ 1.6E+02 | 0.0E+00 | 1.7E+00 | 6.3E+01 | 1.5E+03 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 7.8E-01
energy carrier
Renewable primary energy
RPRy resources as material MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
utilization
NRPRe Nonrenewable primary energy MJ 3.2E+02 | 3.96+01 | 6.3E+01 | 1.9E+01 | 3.0E+03 | 0.0E+00 | 2.0E-01 | 0.0E+00 | 2.0E+01
as energy carrier
NRPRy  |Nenrenewable primary energy MJ 1.36+02 | 0.0E+00 | 3.8E+01 | 0.0E+00 | 1.1E+03 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
as material utilization
SsM Use of secondary material kg 3.7e+00 | 0.0+00 | 0.0e+00 | 0.0E+00 | 2.4E+01 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
RSF Use of re”eﬁztl’;e secondary MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
NRSF Use of nonrenewable MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
secondary fuels
RE Energy recovered from MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
disposed waste
FW Use of net fresh water m? 50E-01 | 0.0E+00 | 2.1E-02 | 2.0E-01 | 4.8E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 1.5E-02

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Environment

17 of 24




I o
Paneltech Solid Collection and Designer Collection = Paperstone
Panels The Earth’s S >
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Results below contain the output flows and wastes throughout the life cycle of the product.

Output Flows and Waste Categories

Parameter Parameter Unit A1-A3 A4 A5 B2 B4 c1 Cc2 C3 C4
HWD Hazardous waste disposed kg 2.6E-04 1.5E-04 2.9E-04 1.0E-04 5.7E-03 0.0E+00 | 0.0E+00 | 0.0E+00 7.0E-05
NHWD N°“'hzf:gg‘s’:j waste kg 13E+00 | 1.7E+00 | 1.7E+00 | 45E-01 | 82E+01 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 7.4E+00
HLRW High-level radioactive waste kg 2.6E-04 5.4E-05 3.1E-04 5.0E-05 5.1E-03 0.0E+00 | 0.0E+00 | 0.0E+00 1.2E-04

Intermediate- and low-level

ILLRW e wasts kg 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
CRU Components for re-use kg 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
MR Materials for recycling kg 0.0E+00 | 0.0E+00 1.5E+00 | 0.0E+00 | 9.5E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
MER Materials for energy recovery kg 0.0E+00 | 0.0E+00 9.7E-02 0.0E+00 1.1E+01 0.0E+00 | 0.0E+00 1.7E+00 | 0.0E+00
EE Recovered energy exported MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00

from system

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Results below contain direct greenhouse gas emissions and removals throughout the life cycle of the product.

Resource Use

Parameter Parameter Unit A1-A3 A4 A5 B2 B4 c1 Cc2 C3 C4

Biogenic Carbon Removal

BCRP kg CO, 5.10E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 3.32E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
from Product

BCEP Biogenic Carbon Emissions kg CO» 0.00E+00 | 0.00E+00 | 1.53E+00 | 0.00E+00 | 3.32E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 3.57E+00
from Product

BCRK Biogenic Carbon Removal kg CO» 2.44E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 1.59E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
from Packaging

BCEK Biogenic Carbon Emissions kg CO» 0.00E+00 | 0.00E+00 | 2.44E+00 | 0.00E+00 | 1.59E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

from Packaging

Biogenic Carbon Emissions
BCEW from Combustion of Waste kg CO2 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
from Renewable Sources

Used in Production Process

CCE Calcination Carbon Emissions kg CO2 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

CCR Carbonation Carbon Removal kg CO2 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

Carbon Emissions from
CWNR Combustion of Waste from kg CO» 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Non-renewable Sources Used

in Production Process

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Environment 18 of 24




Environmental Product Declaration _ . @ [
Paneltech Solid Collection and Designer Collection ?‘n Paperstone cermirien. [N 140002? gcg) &040

Panels The Earth’s Surface” and 1SO 21930
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

PRODUCT DECLARATION

Minimum Product LCA Interpretation

The production stage (A1-A3) accounts for the majority of the product impacts, which mostly comes from energy used in the production
process as well as some upstream impacts from materials used. Distribution (A4) accounts for more impact in acidification and smog
formation. Maintenance (B2) accounts for more impact in eutrophication. The replacement (B4) stage accounts for the majority of impact
in all categories since it duplicates these impacts per the number of times the product is replaced. This study accounts for six and a half
replacements over the course of a 75-year building lifetime.

100%
90%
80% mcs
70% nc3
60% nc2
0% "84
40% B2
30% wAS
20% mAd
L% - BALA3
0%
GWP oDP

AP Air EP SP FFD

Environment 19 of 24



Paneltech Solid Collection and Designer Collection

Panels

Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

15

PaperStone

s ourj

Maximum Results per Functional Unit Over the Building Lifetime of 75 Years - Including 6.5 Replacements

Results shown below were calculated using TRACI 2.1 Methodology.

TRACI 2.1 Impact Assessment

Parameter Parameter Unit A1-A3 A4 A5 B2 B4 c1 c2 Cc3 c4
GWP Global warming potential kg COrEq. | 2.9E+01 | 3.6E+00 | 5.5E+00 | 2.9E+00 | 2.9E+02 | 0.0E+00 | 1.5E-02 | 0.0E+00 | 4.1E+00
oDP Depletion potential of the kg CFC-11 [ 5 506 | 14610 | 81E-07 | 23207 | 268-05 | 0.0E+00 | 596-13 | 0.0E%00 | 5.1E-07

stratospheric ozone layer Eq.
AP Ar Ac'd'f'cat:r:i‘s’;‘c‘?::a' for air kg SO-Eq. | 13601 | 57E-02 | 2.7E-02 | 1.3E-02 | 1.5E+00 | 0.0E+00 | 9.2E-05 | 0.0E+00 | 5.5E-03
EP Eutrophication potential kg N-Eq. 6.9E-02 3.1E-03 8.5E-03 1.9E-02 7.1E-01 0.0E+00 5.1E-06 0.0E+00 1.0E-02
SP Smog formation potential kg Os-Eq. 2.1E+00 1.6E+00 3.4E-01 1.2E-01 2.8E+01 0.0E+00 2.5E-03 0.0E+00 8.0E-02
FFD Fossil fuel depletion MJ-surplus | 7.2E+01 | 6.8E+00 | 1.3E+01 | 1.8E+00 | 6.3E+02 | 0.0E+00 | 3.0E-02 | 0.0E+00 | 2.5E+00
*All use phase and disposal stages have been considered and only those with non-zero values have been reported
Results shown below were calculated using CML 2001 - April 2013 Methodology.
CML 4.1 Impact Assessment
Parameter Parameter Unit A1-A3 A4 A5 B2 B4 c1 c2 Cc3 c4
GWP Global warming potential kg COrEq. | 29E+01 | 3.6E+00 | 5.5E+00 | 2.8E+00 | 2.9E+02 | 0.0E+00 | 1.5E-02 | 0.0E+00 | 4.1E+00
opP Depletion potential of the kg CFC-11Eq. | 20E-06 | 1.3E-10 | 6.2E-07 | 20E-07 | 2.2E-05 | 0.0E+00 | 5.96-13 | 0.0E+00 | 5.1E-07
stratospheric ozone layer

AP Air A°'d'f'°a';°m”i§;;"s“a' for air kg SO»Eq. 126-01 | 46802 | 2.86-02 | 1.1E-02 | 1.4E+00 | 0.0E+00 | 9.2E-05 | 0.0E+00 | 5.5E-03

EP Eutrophication potential kg(POsy-Eq. | 3.7E-02 | 8.7E:03 | 4.9E-03 | 9.6E-03 | 4.6E-01 | 0.0E+00 | 5.1E-06 | 0.0E+00 | 1.0E-02
Formation potential of
POCP ropospharic ozone kg ethane-Eq. | 3.3E-02 | 1.1E-03 | 2.6E-03 | 1.6E-03 | 7.9:01 | 0.0E+00 | 2.5E-03 | 0.0E+00 | 8.0E-02
ADPE Abiotic depletion potential for kg Sb-Eq. 49602 | 00E+00 | 5405 | 27805 | 1.7E+01 | 0.0E+00 | 3.0E-02 | 0.0E+00 | 2.5E+00
non-fossil resources
ADPF Abiotic depletion potential for MJ 526+02 | 46E+01 | 9.9E+01 | 16E+01 | 45E+03 | 0.0E+00 | 1.6E-02 | 0.0E+00 | 4.1E+00
fossil resources
*All use phase and disposal stages have been considered and only those with non-zero values have been reported
Results below contain the resource use throughout the life cycle of the product.
Resource Use

Parameter Parameter Unit A1-A3 Ad A5 B2 B4 c1 Cc2 Cc3 c4

RPRe Renewable primary energy as MJ 16E+02 | 0.0E+00 | 1.7E+00 | 6.3E+01 | 1.4E+03 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 8.0E-01

energy carrier
Renewable primary energy
RPRu resources as material MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
utilization

NRPRe Nonrenewable primary energy MJ 426402 | 46E+01 | 6.7E+01 | 1.98+01 | 3.7E+03 | 0.0E+00 | 2.0E-01 | 0.0E+00 | 2.0E+01
as energy carrier

NRPRu Nonrenewable primary energy MJ 1.16+02 | 0.0E+00 | 3.4E+01 | 0.0E+00 | 9.7E+02 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00

as material utilization

SM Use of secondary material kg 4.5E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 2.9E+01 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00

RSF Use of renewable secondary MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00

NRSF Use of nonrenewable MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
secondary fuels

RE Energy recovered from MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00
disposed waste

FW Use of net fresh water m? 1.8E-01 | 0.0E+00 | 22602 | 2.0E-01 | 2.7E+00 [ 0.0E+00 | 0.0E+00 [ 0.0E+00 | 1.5E-02

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Environment

20 of 24




Paneltech Solid Collection and Designer Collection g—[ﬂ Paperstone

Panels The E

cartns

Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

Results below contain the output flows and wastes throughout the life cycle of the product.

Output Flows and Waste Categories

Parameter Parameter Unit A1-A3 A4 A5 B2 B4 Cc1 Cc2 C3 C4

HWD Hazardous waste disposed kg 4.5E-04 2.3E-04 2.9E-04 1.0E-04 7.5E-03 0.0E+00 0.0E+00 0.0E+00 7.1E-05

NHWD N°”'h"c‘if:;gcs’:z waste kg 17400 | 26E+00 | 1.8E+00 | 45e-01 | 1.0E+02 | 1.0E+00 | 0.0E+00 | 1.0E+00 | 7.5E+00

HLRW High-level radioactive waste kg 3.2E-04 6.9E-05 3.1E-04 5.0E-05 2.6E+01 2.0E+00 | 0.0E+00 | 2.0E+00 1.2E-04
Intermediate- and low-level

ILLRW radioactive waste kg 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00

CRU Components for re-use kg 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00

MR Materials for recycling kg 0.0E+00 | 0.0E+00 1.5E+00 | 0.0E+00 | 9.5E+00 0.0E+00 | 0.0E+00 0.0E+00 | 0.0E+00

MER Materials for energy recovery kg 0.0E+00 | 0.0E+00 9.7E-02 0.0E+00 1.2E+01 0.0E+00 | 0.0E+00 1.7E+00 | 0.0E+00
Recovered energy exported

EE from system MJ 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 7.5E+02 | 0.0E+00 | 0.0E+00 | 1.1E+02 | 0.0E+00

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Results below contain direct greenhouse gas emissions and removals throughout the life cycle of the product.

Resource Use

Parameter Parameter Unit A1-A3 A4 A5 B2 B4 c1 Cc2 C3 C4

Biogenic Carbon Removal

BCRP kg CO, 5.52E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 3.59E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
from Product

BCEP B'°ge”'f°rocnirg‘r’;‘ dir:t'ssms kg CO» 0.00E+00 | 0.00E+00 | 1.66E+00 | 0.00E+00 | 3.59E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 3.86E+00

BCRK Biogenic Carbon Removal kg CO» 2.75E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 1.79E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
from Packaging

BCEK Biogenic Carbon Emissions kg CO» 0.00E+00 | 0.00E+00 | 2.75E+00 | 0.00E+00 | 1.79E+01 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

from Packaging

Biogenic Carbon Emissions
BCEW from Combustion of Waste kg CO» 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
from Renewable Sources

Used in Production Process

CCE Calcination Carbon Emissions kg CO2 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

CCR Carbonation Carbon Removal kg CO2 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

Carbon Emissions from
CWNR Combustion of Waste from kg CO: 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Non-renewable Sources Used

in Production Process

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Environment 21 of 24




Environmental Product Declaration _ . @ [
Paneltech Solid Collection and Designer Collection ?‘n Paperstone cermirien. [N 140002? gcg) &040

Panels The Earth’s Surface” and 1SO 21930
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

PRODUCT DECLARATION

Maximum Product LCA Interpretation

The production stage (A1-A3) accounts for the majority of the product impacts, which mostly comes from energy used in the production
process as well as some upstream impacts from materials used. Distribution (A4) accounts for more impact in acidification and smog
formation. Maintenance (B2) accounts for more impact in eutrophication. The replacement (B4) stage accounts for the majority of impact
in all categories since it duplicates these impacts per the number of times the product is replaced. This study accounts for six and a half
replacements over the course of a 75-year building lifetime.

100%

90%

80% mcs
70% mc3
60% e
0% "4
40% =82
0% mAS
0% m A4
10% mAL-A3

GWP oDbP sp FFD

0%
AP Air EP

Environment 22024



I o
Paneltech Solid Collection and Designer Collection = Paperstone
Panels The Earth’s Surface
Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

ect a
I

References

SimaPro Software

ISO 14025
ISO 14040
ISO 14044

1ISO 21930: 2017
ULE 2022

Characterization Method

Characterization Method

Characterization Method

Characterization Method

Characterization Method

Characterization Method

US EPA WARM Model

Ecoinvent v 3.5

USLCI

TRACI Methodology

CML Methodology

Environment

PRe Sustainability. SimaPro Life Cycle Assessment version 9.4.0.2 (software).

ISO 14025:2011-10, Environmental labels and declarations — Type Ill environmental
declarations — Principles and procedures.

ISO 14040:2009-11, Environmental management — Life cycle assessment — Principles
and framework.

ISO 14044:2006-10, Environmental management — Life cycle assessment —
Requirements and guidelines.

1ISO 21930:2017, Sustainability in buildings and civil engineering works - Core rules for
environmental product declarations of construction products and services.

UL Environment, General Program Instructions, 2022.

IPCC. 2021. Climate Change 2021. The Physical Science Basis. Cambridge University
Press. (https://www.ipcc.ch/assessment-report/ar6/).

Hauschild M.Z., & Wenzel H. Environmental Assessment of Products. Springer, US, Vol. 2,
1998.

Heijungs R., Guinée J.B., Huppes G., Lankreijer R.M., Udo de Haes H.A., Wegener
Sleeswijk A. Environmental Life Cycle Assessment of Products: Guide and Backgrounds.
CML. Leiden University, Leiden, 1992.

Jenkin M.E., & Hayman G.D. Photochemical ozone creation potentials for oxygenated
volatile organic compounds: sensitivity to variations in kinetic and mechanistic parameters.
Atmospheric Environment. 1999, 33 (8) pp. 1275-1293.

WMO. 1999. Scientific Assessment of Ozone Depletion: 1998, World Meteorological
Organization Global Ozone Research and Monitoring Project - Report No. 44, WMO,
Geneva.

Standard Method for the Testing and Evaluation of Volatile Organic Chemical Emissions
from Indoor Sources using Environmental Chambers- version 1.2, January 2017.

US EPA’s Solid Waste Management and Greenhouse Gases: A Life-Cycle Assessment of
Emissions and Sinks page 111

Wernet, G., Bauer, C., Steubing, B., Reinhard, J., Moreno-Ruiz, E., and Weidema, B., 2016.
The ecoinvent database version 3 (part |): overview and methodology. The International
Journal of Life Cycle Assessment, [online] 21(9), pp.1218—1230. Available at:
<http://link.springer.com/10.1007/s11367-016-1087-8> [Accessed 13/01/2023].

U.S. Life Cycle Inventory Database." (2012). National Renewable Energy Laboratory, 2012.
Accessed November 19, 2012: https://www.lcacommons.gov/nrel/search

BARE, J. C. TRACI 2.0 - The Tool for the Reduction and Assessment of Chemical and other
environmental Impacts. CLEAN TECHNOLOGIES AND ENVIRONMENTAL POLICY.
Springer-Verlag, New York, NY, 13(5):687-696, (2011).

Leiden, U. (2016) CML-IA Characterisation Factors.
https://www.universiteitleiden.nl/en/research/research-output/science/cml-ia-
characterisation-factors

23 of 24


http://www.ipcc.ch/assessment-report/ar6/)
http://link.springer.com/10.1007/s11367-016-1087-8
http://www.lcacommons.gov/nrel/search
http://www.universiteitleiden.nl/en/research/research-output/science/cml-ia-

Environmental Product Declaration _ .
Paneltech Solid Collection and Designer Collection ?m Paperstone CERTIFIED

Panels

@

ENVIRONMENTAL

The Earth’s Surface™

Charcoal, Graphite, Gunmetal, Pewter, Sand, and Slate

PRODUCT DECLARATION
ccompres

According to
1ISO 14025, ISO 14040,
and I1SO 21930

LContact Information

Study Commissioner

45 PaperStone

The Earth’s Surface™

LCA Practitioner

Mike Miller
Manager

Paneltech

Manufacturer of PaperStone
mike@paperstoneproducts.com | 360.538.1480 |
360.520.9930 cell | 360.538.1510 fax

2999 John Stevens Way | Hoquiam WA 98550
www.paperstoneproducts.com

SustainableSolutions
CORPORATION

Environment

Sustainable Solutions Corporation

155 Railroad Plaza, Suite 203
Royersford, PA 19468 USA
(+1)610569-1047
info@sustainablesolutionscorporation.com
www.sustainablesolutionscorporation.com

24 of 24


mailto:mike@paperstoneproducts.com
http://www.paperstoneproducts.com/
mailto:info@sustainablesolutionscorporation.com
http://www.sustainablesolutionscorporation.com/

	General Information
	Description of Company/Organization
	Product Description
	Flow Diagram
	Manufacturer Specific EPD
	Application
	Material Composition
	Technical Data
	Placing on the Market / Application Rules
	Properties of Declared Product as Shipped

	Methodological Framework
	Functional Unit
	System Boundary
	Reference Service Life
	Allocation
	Cut-off Criteria
	Data Sources
	Data Quality
	Period Under Review
	Treatment of Biogenic Carbon
	Comparability and Benchmarking
	Estimates and Assumptions End of Life
	Units

	Additional Environmental Information
	Background data
	Manufacturing
	Packaging
	Transformation
	Product Use
	Disposal

	Minimum Results
	Maximum Results
	Additional Environmental Information
	Environmental and Health During Manufacturing
	Environmental and Health During Installation
	Extraordinary Effects Fire
	Delayed Emissions
	Environmental Activities and Certifications
	Further Information

	Additional Results per ISO 21930
	Minimum Results per Functional Unit Over the Building Lifetime of 75 Years - Including 6.5 Replacements
	Minimum Product LCA Interpretation
	Maximum Results per Functional Unit Over the Building Lifetime of 75 Years - Including 6.5 Replacements
	Maximum Product LCA Interpretation

	References
	Contact Information
	Study Commissioner
	LCA Practitioner


